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No. I BHir| #E & # fi&

BERFVATLLEERLRREIS

BRILERELIT1TERT

1 BEEIFEE = 1 3,059,944
2 #HBERKE = 1 104,344
3 RIGEER = 1 922,706
4 —REEE = 1 698,058
5 &EREE = 1 -5,052
TEfEEt(1+2+3+4+5) 4,780,000
HEBMELE % | 10.00% 478,000
T = & Gt 5,258,000




4
mes

mx

No. I = £ Bl %2 | RERBME|x 70%| 8 A @ 4%
BRSO AT LR BEEBEICHIRRTIS
BRILERELIT17ER
(E#EIEE)

1ERILERE = 1 229,280 160,496
QHHERE = 1 57,930 40,551
S| LHERE = 1 275,360 192,752
| LHAEZEREANFRE X 1 191,430 134,001
5|INEERE = 1 195,740 137,018
6| RIS EEL R 52— = 1 463,670 324,569
MNEAZRERBRRE = 1 240,530 168,371
8| FHERE = 1 317,540 222,278
I|MHERE X 1 352,895 247,026
10|[ARERE = 1 254,230 177,961
N|FRERE X 1 374,740 262,318
12|FMERERFHRE =X 1 264,230 184,961
13|E9sIRERE = 1 298,280 208,796
14|EREAZERE = 1 512,045 358,431
15|RIAERE X 1 173,590 121,513
16| MMAERE X 1 61,950 43,365
17| KETERZE HAITRH E2 1 107,910 75,537

ERIEE & 4,371,350 3,059,944




fRILERE RIELERXR

B 2% W BB | B D 5
(EETEE]
Cat6 UTP—J )L 210l m 21,000
Za—IJE— 6] K 4,500
Za—IJE—)LavER—I3Y 2 & 340
FEHBOX 2l A 1,600
HT3VN6 v yFxuk 3 & 3,900
HEEIL—F 2l ¥ 940
HERMBEMBE 1 = 2,000
ERIBERVBGIEE 1 = 150,000
BRI R B 1 = 45,000

BEEIZEE &t 229,280




hHEEE RELERR

EAEACIE ) wE | By PP e
[EfETE#E]
AR )LE—)L ARY 2l K 3,960
AJLE—)L ARIO—F— 1 & 940
A2 JLAZEHBOX 1 & 1,300
neERIL—k 1 54 470
VVF20mm—3C4s—7J )L 40 m 10,680
2P15A X2 B|RaV Uk 1 & 580
HEMMMRE 1 = 1,000
B TERVEITIEE 1 = 29,000
BRI R B 1 = 10,000

EETIEE & 57,930




FTHERE RELRE

B 2% W BB | B D 5
(E#ETEE]
Cat6 UTP—J )L 255 m 25,500
—a—IJF—) 3] K 2,250
Za—IJFE—)LavExr—iar 1 1& 170
FEHBOX 2l A 1,600
HT3VN6 v yFxuk 3 1& 3,900
HEEIL—F 2l 940
HERMBEMBE 1 = 2,000
ERIBERVBGIEE 1 = 184,000
HERFAEE 1 = 55,000

BEEIZEE &t 275,360




FTHERE - LFXE RBHLERE

B 2% W BB | B D 5
(E#ETEE]
Cat6 UTP—J )L 135 m 13,500
A2LE—)L AR 4 ZS 7,920
ALE—)L ARID—4— 2 1& 1,880
23 )L Ea HBOX 3 @ 3,900
HT3VN6 v yFxuk 3 1& 3,900
FERIL—bk 3] 1,410
VVF20mm—3C4s—7J )L 20 m 5,340
2P15A X2 E|RaAVEVE 1 & 580
HERMBEMBE 1 = 2,000
ERIBERVIGIEE 1 = 116,000
HERFAEE 1 = 35,000

BEEIZEE &t 191,430




INEERE REBLRE

B 2% W BB | B D 5
(E#ETEE]
Cat6 UTP—J )L 165 m 16,500
A2LE—)L AR 4 K 7,920
ALE—)L ARID—4— 2 1& 1,880
23 )L Ea HBOX 2| {@ 2,600
HT3VN6 v yFxuk 3 1& 3,900
HEEIL—F 2l 940
HERMBEMBE 1 = 2,000
ERIBERVBGIEE 1 = 123,000
HERFAEE 1 = 37,000

BEEIZEE &t 195,740




RS

EERF 53— RELRE

EAEACIE ) wE | By PP e
[EfETE#E]
Caté UTP—J L 240 m 24,000
ARJLE—)L AR 9 X 17,820
AILE—)L ABIO—F— 3] @ 2,820
23 )LE&HBOX 5 & 6,500
HhT73aVe v oxvk 6 & 7,800
HEEIL—F 5] & 2,350
VVF20mm—3C4s—7J )L 60 m 16,020
2P15A X2 ®|RaV Uk 2 & 1,160
BRAZ520A 2 & 5,200}17%F-20& (= A
HERMBEMEE 1 = 4,000
B TERUVE{TIEE 1 = 289,000
SHRERIAEE 1 = 87,000
BEIEE &t 463,670




EAZRZ-FAXE RBLER

EAEACIE ) wE | By PP e
[E#EIE#E]
Caté UTP—J L 2100 m 21,000
—a—IJE—)L 9] XK 6,750
Za—IJEFE—/LavER—I3Y 2 & 340
ZHBOX 2| @ 1,600
HhT3ave Droxvk 3 & 3,900
HneERIL—+ 2l #® 940
HEMMMRE 1 = 2,000
B TERUVEITIEE 1 = 157,000
SAEREREE 1 = 47,000

EETIEE & 240,530




FHERE REBELEBE

RIRE AR < %8)

A& ) HeE B e
(B TE#E]
Cat6 UTP~—J )L 220 m 22,000
Za—IJFE—)L 14 K 10,500
—a—IJE—)LavER—Tay 2| @ 340
FEHBOX 2 & 1,600
A2 LE—)L AR 2l X 3,960
A IE—)L ARIQ—F— 1 & 940
A3 )L EEHBOX 1 1& 1,300
AT73V6 Drv ¥k 3 & 3,900
FEEIL—H 3 1,410
VVF2.0mm—3C~—7J )L 30 m 8,010
2P15A X2 ERI Uk 1 1& 580
HERMMEE 1 = 3,000
B IERVERITIEE 1 = 200,000
SHERER R 1 = 60,000

EEIEE & 317,540




MEAERE RIBLEER

EAEACIE ) wE | By PP e
[EfETE#E]
Caté UTPH—TJ )L 270 m 27,000
—a—IJE—)L 15 X 11,250
Za—IJEFE—/LavER—I3Y 2 & 340
EZHBOX 3 & 2,400
HhT73aVe v oxvk 3 & 3,900
HEEIL—F 3] 1,410
VVF20mm—3C4s—7J )L 45 m 12,015
2P15A X2 ®|RaV Uk 1 & 580
HEMMMAE 1 = 3,000
B TERUVEITIEE 1 = 224,000
BRI R B 1 = 67,000

EETIEE & 352,895




FAERE RIEBEHERE

EAEACIE ) wE | By PP e
[EfETE#E]
Cat6 UTP—J )L 180 m 18,000
Za—IJFE—)L 9] &K 6,750
Za—IJE—)LavER—I3Y 3 & 510
EZHBOX 3 & 2,400
HhT73aVe v oxvk 3 & 3,900
HEEIL—F 3] 1,410
VVF20mm—3C4s—7J )L 40 m 10,680
2P15A X2 ®|RaV Uk 1 & 580
HEMMMAE 1 = 2,000
B TERUVEITIEE 1 = 160,000
BRI R B 1 = 48,000

EETIEE & 254,230




FMERE RIGLLREK

B 2% W BB | B D 5
(E#ETEE]
Cat6 UTP—J )L 285 m 28,500
A2LE—)L AR 4 K 7,920
ALE—)L ARID—4— 2 1& 1,880
23 )L Ea HBOX 2| {@ 2,600
HT3VN6 v yFxuk 3 & 3,900
HEEIL—F 2l ¥ 940
HERMBEMBE 1 = 3,000
ERIBERVBGIEE 1 = 201,000
BRI EE 1 = 50,000
R 1 = 75,000

EEIEE & 374,740




FRERE-REMNXE RELER

EAEACIE ) wE | By PP e
[EfETE#E]
Cat6 UTP—J )L 210 m 21,000
Za—IJFE—)L 9] &K 6,750
Za—IJE—)LavER—I3Y 3 & 510
EZHBOX 3 & 1,740
HhT73aVe v oxvk 3 & 3,900
HEEIL—F 3] 1,410
VVF2.0mm—3C4H5—J )L 20 m 5,340
2P15A X2 ®|RaV Uk 1 & 580
HEMMMAE 1 = 2,000
B TERUVEITIEE 1 = 170,000
BRI R B 1 = 51,000

EETIEE & 264,230




B iR ERE RIGLHERE

EAEACIE ) wE | By PP e
[E#EIE#E]
Cat6 UTP—J'JL 280 m 28,000
—a—IJF—) 6] X 4,500
Za—IJEFE—/LavER—I3Y 2 & 340
ZHBOX 2| @ 1,600
HhT73aVe v oxvk 3 & 3,900
HneERIL—+ 2l #® 940
HEMMMRE 1 = 2,000
B TERVEITIEE 1 = 198,000
SAEREREE 1 = 59,000

EETIEE & 298,280




FREEREE RELRR

EAEACIE ) wE | By PP e
[EfETE#E]
Caté UTP—J L 330 m 33,000
ARJLE—)L AR 6 K 11,880
AILE—)L ABIO—F— 3] & 2,820
23 )LE&HBOX 3 & 3,900
HhT73aVe v oxvk 4 & 5,200
HEEIL—F 3] 1,410
VVF2.0mm—3C4H5—J )L 25 m 6,675
2P15A X2 ®|RaV Uk 2 & 1,160
JL—H—2P 20A 2l @& 8,000
HEMMEMRE 1 = 4,000
BEMIERVRGIEE 1 = 334,000
SHRERIAEE 1 = 100,000

BEIEE &t 512,045




FIEERE REBELERE

EAEACIE ) wE | By PP e
[EfETE#E]
Cat6 UTP—J )L 160 m 16,000
—a—IJE—)L 2l K 1,500
Za—IJE—)LavER—I3Y 1 & 170
ZHBOX 1 1& 800
HhT73aVe v oxvk 3 & 3,900
HneERIL—+ 1 054 470
VVF2.0mm—3C4H5—J )L 10 m 2,670
2P15A X2 ®|RaV Uk 1 & 580
HEMMMAE 1 = 1,500
B TERUVEITIEE 1 = 112,000
BRI R B 1 = 34,000

EETIEE & 173,590




ZxE RBLER

EAEACIE ) wE | By PP e
[EfETE#E]
VVF20mm—3C4s—7J )L 40 m 10,680
—a—IJE—)L 3l K 2,250
Za—IJE—)LavER—I3Y 1 & 170
ZHBOX 1 1& 800
2P15A X2 ERI Uk 1 & 580
HneERIL—+ 1 054 470
HEMMMRE 1 = 1,000
BEMIEBERUVRANIEE 1 = 35,000
BRI R B 1 = 11,000

EETIEE & 61,950




AMZRZ-HMHATRE BHBELREK

EAEACIE ) wE | By PP e
[E#EIE#E]
Cat6 UTP—J )L 15 m 1,500
—a—IJF—) 6] X 4,500
Za—IJEFE—/LavER—I3Y 2 & 340
ZHBOX 1 1& 800
HhT73aVe v oxvk 1 & 1,300
HneERIL—+ 1 054 470
HEMMMRE 1 = 1,000
BEMIEBERUVRANIEE 1 = 75,000
BRI R B 1 = 23,000

EETIEE & 107,910




